OBS OBS OBS
60— —
~ 60 - e~
S & = 50 B
3 Y S
3 E] RS B
Z 40 - 50 2
5 2 . N
£ f E
& 20 — = 20 -
10~ -
Il 1 1 1 1 L Il 1 1
=50 0 50 -50 o 50 -50 o 50
Latitude Latitude Latitude
albszon albtzon clhcalipsozon
T T T OBS ° T T OBS T T T OBS
60 B 80~ 80| 4
[ 70+ S0 —
sl 4 g
= Fe0- 2 60~ —
z = E
T 40 1 ERUS T sop- -
) 2 z
I 301 - g 40~ S 40~ 1
Eqo— B EEYS B0l N
3 201 Sl -
o 7 10 10 —
L 1 0 Il 1 L L 1 L
-50 50 -50 0 50 -50 o 50
Latitude Latitude
clhzon cllcalipsozon cllzon
T T OBS 30 T OBS OBS.
70 -1
300 B gor Fool- B
g El z
El R < sof J
2 Yy 2
D20 — 3 40 -
E ; 20~ g 301 ]
“ 1ok B g = 20[ -
20 z
10~ —
I 1 L 0 L L L L I L
-50 50 -50 0 50 -50 o 50
L Latitude Latitude
clmcalipsozon clmzon crelszon
0 T T OB! T T OBS T T OBS
60~ B o or= T
g s B 2 20l 2 a0} B
Z s E z z
3 g ol g a0 B
S 3o 7 £ g
g 4 g
Ep ] gl g o 1
ET N J : P
- “ 80 ? sof- -
of 1
10 L L L L 1 L _100 L L L
-50 0 50 -50 0 50 -50 0 50
Latitude Latitude Latitude
creltzon cresszon crestzon
6ol T ] OBS T OBS T T T oBS
& 40 — ~ 20 - .
g g N
b 1 g Z
g of g 3 £
- e H
520k B i 20~ s |
& 5] g
a0k B El g
3 ZHor &
& 60 i = 21 B
60 f—
S | | ! ] | 1 1 ! L 1
-50 o 50 -50 0 50 -50 o 50
Latitude Latitude Latitude
cretszon crettzon evazon
150~ ' ! B OBS T T OBS E T T OBS
- g 1or a»nE
a E g 20F
E £ E 5F E
= z E E
?g 100}~ B z 5 BE
E 55
£ 2 E
g 5 ol 7 FE 3
2 ‘—g 3 3F 3
g sop- - s 29E 3
4 H LES E
-100 E |
1 1 L I 1 L E | 1 1 |
-50 0 50 -50 0 50 -50 0 50
Latitude Latitude Latitude
hflszon hinszon hfsszon



2 2
3 ]
- 1= = -1z
- =2 - 4o
3
- 12 - 42
m L
cin=ry rOrir o e 2
SORISP ST S [ g 2
OF  uyaw Ko awap - o peyg
7 2
2 2
8 S
T T T T T
F —2 5 &
3
- Jo2 L 4o
3
L 2 = -2
N
I S B | W = =
g 8 8§ 8 § 2 »° — 2 & ° 8§ 2
2 8 %8 8 &8 2 YT
Q) somm dqendparg O Qwa Fu - woH Py
7 7
2 2
8 S
T T T T T T T T T
L ds L dz
3
L o2 S Ho
3
2 = -2
N
S s
28 883 KRR & =} g 8

(%) 2ompms e py

(vgu) amssard [aa] vog

Latitude

Latitude

Latitude

rahcszon

rahcrezon

pslzon

7 2 2 Z 2
2 2 2 2 2
<} = o = =
T T T T T T T
| 2 - % - 2 = B F 12
8 2 2 3
r °F = o2 - o2 = o £ - e
3 3 3 3
b s gL 2 - 2 = EH L BH
? 3 g g 2 2
N ] =] m
«n Q Q S|
o N N =
L 1 L = L L L L 12} L L L - L 1 L L T SR O S
E g g < g & g ¢ Tz z &g = = g B 2 8 3 8 8 °
; 3 ¥ —_ E & 5 — % kg & 7 — 5 n & & % 2
(/A0 &S 821D - TOH AT WY ~ (WA DASUMOPAT ~ (Tw/m) W10 ~ (Tuwypm) WH NS Y ~ (i) 2ems per MS oL
2 2 2 2 2
2 2 2 2 2
S S S S S
T T T T T T T T T T
- 2 = 2 F 2 = = = =
3 3 3 3
L oF - o2 - o2 L o2 L de
3 3 3 3
L g QF g gt g gt 1= 821 {1z
g N 7 a2 ? 3 ? o 7
o X X 3
= 0 1] ]
= % 2 <
TR L L I | I L L + I I L
s s S s 2 = B s B 5 < s 2 @ 8 3 °
s 8 ° § 3 S8 sz & s = g 8 = = B mE R & ISR
(Tw/m) 28D - 8H W1 Uy ~ (Tui/m) DASUMOPMT SO — @u/m) A0 s w21 — (Tw/pm) £34s 21D - WIH NS Uy —~ (Twym) 2335 1° Up S
7 2 2 2 2
2 2 2 2 2
8 3 ] 8 3
T T T T T T
F 8 F 2 = 8 = 2 = EH
£ £ 2 3
L sf L =2 - o - o r q1°
3 3 3 K
L 2 L 2 2 @] s
ks k3 + 2 L 2 - B
; [ N ?
g g = L
Q N g o
S D =
e g = g L = JL S
8 2 g 2 g - = - °
F % 5 85 3 S = 2 & S8 g8 8 &8 = < < wn & &8 B
(Tu/) 19K poy uny ~ (uyp) woH T Uy, —~ (guy ) 2ampang e dnyy ] ~ (@W/M) FUD - TeH MS Wy — (2w ANSIEAID 2235 18 UPAS

Latitude

Latitude

Latitude



rstszon

rsdszon

rsdscszon

2 2 2 2
3 ] ] )
T T T T T T T T T T T T T T T
F -2 o -z o EH] + 12
4 3 3 3
- do 2 = EEH r H4°£ r =2
3 3 3 3
L EE = s F s L Iz
7 5 7 ? o
X =) 5]
n Qo =] Q
O N o =
2] = ol TP N R B
I 1 1 1 1 1 I I 1 I I — = =]
ER- S s T g ¢ ° S g 2 ° = g = - =z & ° § 3 =
2 & =2 nh & 2 & ® n = 2 2 = s S 3
(guyp) £xsma1) 2058 18 s — (Qu/am) VOL P& S preadny ~ (Tw/M) VOL uoneipey [eioL, — (ZW)N) ssas putm [euoz, +
2 7 7 2 z
2 2 2 2 2
] ] ] S 8
T T T T T T T T T
r 12 r 1% r 12 - —H8 r -2
E i H 3
r q4o£ F =2 r EEE - o2 = e
3 5 5 3
- 17 - 1w B N _F 3 17
8 Z S g
N S 0 Q
T | =T S Sl e s
B s ) s B B PG 5
g g 8 g 2 8 =8 g g g &
H & 2 m & = = 7] ; 5 - & & 7 < g 8 ¥ 8 §
(Tw/m) VOL P1oL MS Ped — (Tuyp) Sysim210 vOLIE dnn s —  (qw/m) vOL uonepey 1oL £3S 18] — (D) wg ampsadwa g, + (w) WSy Enuaiodoad egyoos
2 2 2 2
2 2 2 2 2
8 3 8 8 S
T T T T T T T T T T T
= 12 o = = -z S -z 3 12
3 3 3 3
L 1o = <2 - 42 = 12 r q1°
3 3 3 3
r -2 g -2 - B L dg - 1%
Q =
5 S g 8
Q
L + . . w L N NS
g g 8§ 8 ° B e g B ° 7 2 s = ° BT s s B O:EEOG ERR-
g 2 & 2 z 2 ;= : T ? ?
(TUW/AM) VOL TIOL MS PLY AYS 1891 — [ VESLELIY — (wyp) 99upns uonEIpes IO, — O)1ss wn (Zu/N) 5285 PuLs [PUOIPLAIY

Latitude

Latitude

zg500zon

tauvzon



